ApudpmetTnyeckasn
nporpeccus




BapunaHTt 16 N2 13

flaHo: = 5,7,9, ...

San -7
40 PewweHune:
Cll =5
d=7-5=2

Aygo = 5+ (40 '1) 2=83

S40 === 40 =88 - 20 = 1760




BapunaHTt 24  Ne 13

[1aHo: = 3:—1:1, ...
Sig -7
18 PewweHune:
Cll =-3

d=-1—-(-3)=-1+3=2
a18='3+(18'1)'2=31

Sig=———18 =28 -9 =252




BapuaHT 22  Ne
NaHo: +~,d =2 S, =20, n=20

a1 -7
a,+a a{+a4 +d(n -1
Sn= 1 n N = 1 1 ( ) n =
2 2
_2a4 + d(n-1) .

N
2

21219 59=20 (2a;+38)-10=20
2

2a; +38=2 2a, =- 36 a, =- 18



CBOMCTBO apUPMeTUYECKOU
nporpeccum

~ Opn—1TAn+1






OTBeT:y=1
L



